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ECONOMICS

Paper : ECO-RG-5016
( Economic Development and Policy in India—I )

( Regular Generic )

Full Marks : 80
Time : 3 hours

-The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wore AP Fot SR el fia

(a) Mention one obstacle of economic
development of India.

SATY ALATF Taa b1 141 BCEY 397 |

22A/369 ( Turn Over )



ke e L i e

(b)

(¢

@

(e)

(9)

22A/369

(2)

What is sustainable development?
TRy Sae 2

Does education contribute towards
human capital formation?

TR o oo el Rz e ?

Define disguised unemployment.

TR PR e fan

What is the rate of urbanization in
India according to the 2011 Census?

303 TR FIRFEA TS SRES FRFIH W
R ?

In case of size of population, India
occupies the first position in the world.

(Write True or False)

PRI WA CFae oRre Rq auw 7w
SRR IR |

(¥51 = fy forr)

What is seasonal unemployment?

435S R R0

{ Continued )

(3)

(h) Write one cause of educated
unemployment in India.

TRed s PR b1 31 & 1

(i Mention one poverty alleviation measure
of the Government of India.
TES I WRESl ZPRER AR EIRI G61
T SrEy ¥

() Who prepares Monetary Policy of
India?

TS Y4 NS I 9FS FI ?

2. Anéwer the following questions : 2x5=10
et a1 eppT Te fordt

(a) Mention two causes of India’s low
economic growth.

oo fn St 3R o1 T ToEe |0

(b) Write two importances of technology as
a factor of development.

T IS RO oy o1 g% o
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(4) Y (5)

() Mention two causes of urbanization (0 How is population and economic

in India. : development related? Explain.
W?{m«@rﬂw%@:wn PRy e SdAfes Tmm R wRe 2
' , T AT
(d) Mention two types of unemployment '
found in rural India. (d) Write a note on the occupational
A SROS Rl R ‘iﬁ“ ; stru.lcture in the organized sector of |
01 el India.
o wofde qed e iR Rear go
(e) Write two causes of low savings in T o
India.
ST P TR 1 o (¢) Explain the . nat\;.lre of urban
: unemployment in India.
3. Answer any four of the following questions : ) ol
5x4=20 i i
ot R’ . () Explain the Centre-States financial
oS AT 2PN Y I BB T forgy relation in India.
(a) Suggest some measures for sustainable TR (FW UF eI Ry A I

development in India.

SREY RPN TR MR Rwm s

Eall

SIS |
4. Answer any four of the following questions :
, _— 10x4=40
(b) Explain the relationship between capital
formation and development. P wors i erscar R e BRER Bes o :
TN 16 S ST T 1F 1y ey | (a) Discuss the characteristics of Indian

economy as a developing economy.
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(6)

SAe wdAife PR SRem  weAifed
CIMBPTIR T 370 |

Discuss the causes of low rate of .

capital formation in India.

TR o o AN T FRPHZ A
L2

Discuss the trend of India’s population
growth in the planning period.
ARTEFAR FECRES SFS GPidl I 4
Ao ¥4 1

What are the causes of high rate of
population growth in India? Discuss.

SRS PRI It T TW FRTIR B [0
A F4 |

Discuss the schemes taken by the
Government of India to reduce
unemployment.

@ PN IR AT W @

TSR SICAB 947 |

({ Continued )

oy T msasmy T U T

I

XL DT TR aaaa¥e’ a s idiaa iy b iR AT A BRI

(7))

() Discuss the causes of income inequality
in' India.

SRET I (IR FRPHR SCABA F91 1

L4
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